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Candidates are regquired to give their answers in their

' ‘ own words as far as practicable.

|
Nlustrate the answers wherever necessary.

Group—A

‘l { Micro Economics )
! [Marks : 45]

|
ix15

|
1., Answer any one question :
| ;
- (a) What are indifference curve and budget line ? Discuss

consumer equilibrium with the help of indifference
5+10

.‘ curve and budget line.

{Turn Quer}



[ n]

{b) Why short run average cost curve {SAC) is U’
shaped ? How do we get long run average cost curve
{LAC) from SAC? 7+8

{c) What do you mean by menopoly market? Discuss
short run and longr run equilibrium in monopoly
rnarket. 3+12

2. Answer any three questions : 3x8

(a) How price elasticity on a point of a linear demand

curve is determined ?

(b} Explain increasing return, decreasing return and

constant return to scale.

{c} Establish the relation between price, marginal revenue
and price elasticity. What is break even point?
6+2

{d} Discuss the properties of an indifference curve.
{e) Why demand curve is downward sloping ?

(i) How we get supply curve in perfect competitive

market in short run?
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3. An|swer any two questions : : 2x3
{a) What is shut down point?

|

(b] What is law of dizninishing margical utility ?
\

(c) What is price consumpiion curve ?
\

(d’ What is production function?

(e} What is law of variable proportion ?
| ‘
! Group—B
!
{ Macre Economics )
| [Marks : 45]
!
4. Answer any one gquestion : 115
i
(a) Explain the concept of circular flow of income and
show the fundamental identity in national income
accounting with the help of this circuler flow of
income. Is national income an index of welfare of an

economy ? 10+5

(b) Show, in terms of saving-investment diagram, how
| the equilibrium level of income is detertained m &
| simple Keynesian model. Explain the concept o
| saving-investment identity in this context. 10+5

B

C/18/B.Com. /Part-II(EG)/ 3T(N)/G6 (Fuine Oves



{¢) Disecuss two major versions of quantity theory of
money. What are the main limitations of the quantity
theory of money? _ 10+5

5. Answer any three questions : 3x8

(a) What is consumption function ? Discus the factors on
which consumption expenditure of an economy
depends. 2+6

(b} What is money ? Describe various functions of money.
2+6

(¢} What are the different motives behind the demand for
cash money ? Briefly describe the speculative demand
for money. 2+6

{d} What is paradox of thrift ? How will you explain this

paradox ? 2+6

(e) What is a trade cycle ? How it can be controlled ?
2+6

6. Answer any hvo questions : 2x3

(a) Explain the concept of Net National Product.
{b} What is autonomous investment ?

(c) Distinguish between actual money and accounting
money.

(d) What is inflationary gap ?
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